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WALT reason and problem solve




WALT conwvert between mixed numhers and improper
&a&t&.om
Wewe learnt lots this week .on fractions.
Let's take a .minute to remember everything!

=t J‘i!.||1'oﬁ?li*ﬂ$.'?~
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: Dxm,a,pi.ottuzﬂxdj.a,grm.to show how

v 4 you would solve the following problems. ...
L g [ 1 DO ] 27 children sit
) LT at tahles of 6,
filling all the tahles
where possible.

Excpress how the
tables .are filled
wsing a miced numhber.




Draw a picture or diagram to show how
“B you would solve the following problems. ...

Mr Quick has .asked
2,pup.ws.,to /s,o.r.t /73




Draw a picture or diagram to show how
“B you would solve the following problems. ...

Mr Quick has .asked
2,pup.ws.,to /s,o.r.t /73




WALT conwvert between mixed numhers and improper
fractions

Write down .any mixed ruwmhber that is equivalent to the
improper fraction.

13
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WALT conwvert between mixed numhers and improper

.
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WALT conwvert between mixed numhers and improper
fractions

2) Write the ]‘ollow[ng improper fractlons as mixed numbers.

a) % = f % = k) % =
b) % = 9) % > D % -
c) % = h) g = m) g =
d) % = 0 ?q_z = e 25_1 =
e) 3% = j % = 0) % =




WALT conwvert between mixed numhers and improper
&Jacti.om

02 - 7+ pE- 2+ 0 ZB- 2%
o 2 -3703% wn Y- 2% - 25
DRE 535 =5 25 SEELE 4+
93‘1—1= % ) %= 2% o)%= 5




Lesson 5

WALT : explore equivalent fractions
Two friends, Sahib .and Jess, share |12 cakes.

Jess eats thuee twelths Sahib eats .one .quarter
of the .cake. of the cokes.

Sahib says that Jess ate more cokes them him.
Jess says that they ate the same .amount.
Who is correct?




WALT : explore equivalent fractions

Jess eats thuee twelths 3 Sahib eals one Ww,_
12 of the .cakes. &
o
7
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amallest
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1 = 3 fraction?
4 4 4
| | | | 1 | | | || 1 || 1 1
1 || 1 1 1 1 1 1 1 1 1 1
O 1 2 3 4 5 6 7 8 9 10 1 1
12 12 12 12 12 12 12 12 12 12 12

We .already know Mnqumxwiﬁngqual
value to three twelfths - what other equiv.alent
froctions can iyou see?


















WALT C \
L,_ B N Viocabulary \
Acuons AAUANY
g%%& ge
&,a,otinms
Use < > or = to make the
statement below correct @q»lwl
39 paurt
4 12 w.hole
Order these fractions ruumer.ator
2 5 3 jargestis smalld deno.minator

5" 15’ 10

Fill in the missing fraction

1 Z 3




WALT C ' of a

ﬂse < >or =to make the Qrder these fractions \
statement below correct » 5§ 3 Largest to smallest

3 9 - — —

-=— 5" 15’ 10 3 5 2

& A 0 15 5

Fill in the missing fraction
1 p. -

\§=6_=3 /
If you correctly answered all of the mega

challenge question, .move on to the class
questions.

If you Adid not answer al the mega challenge
correctly, stay with me to learn more.
Class questions - see next slide!
REASON AND PEER MARK FOR EVERY QUESTION!




WALT Calculate fractions of o quanitiy

.
1 . 1 - -
9 dota= b Lofs= ,
= = Jo}
L ]
@ compiete the number sentences.

ST e Reason .it!

20 40

J o Filip has a chacolate bar with 5 equal pieces.

The chocolate bar weighs 60 g. P M I P [ ,

‘ @) What is the mass of one piece?

The mass of one piece is D o

b) Filip eats 2 of the bar of chocolate.

A

How many grams does Filip eat?

20

] € complete the number sentences. © o write each calculation in the correct cirdle
u);u!za:l:l :;;ucazzl:l lofts  lofza  Zofs  Zora  lofae
2otaa= Sof3z=

®

1 - H =
b);nf}s-l:l d)aolsa_:l
3 2 7 i
pos- ] don [
5 = 10 =
fas-] e[
b) Write one more calculation in each circle.
i e <, > or = to compare the caleulations.
@ Moreh the calculotions to the answers 2,’ "

5 it U
e
B} 3q5ap | ‘%ums

Use the reasoning — 'S
__%"”‘ :l a guwa%AFAB
[ = ]

sheet to help you
f spou need it. ——

of 50 O 2 of 100

d)

of 20



WAL T Calculate fractions of o .quanitiy

S

1
=0f42 =
7

—_—

42 =7




WALT C

i0f42=
7

42

42 -7




WAL T Calculate fractions of o .quanitiy

1 Have a think u
6

—of 54 =



WALT Calculate fractions of o quanitiy

/

@ complete the number sentences.

Lot
o) 3 of 20
20

Use the reasoning =

O
sheet to help you e — 0 8
f spou need it. o

. Do .it!
Reason it!
Peer M.ark it!

Filip has @ chocolate bar with 5 equal pieces. g
The chocolate bar weighs 60 g

—
——  60g

@) What is the mass of one piece?

The mass of one plece “I:l 9

b) Filip eats %uf the bar of chocolote
How many grams da
{, Complete the number sentences.

Lot2e= Vo

“'Em"l:l "E"”Z'I:l
EPE Sotna=[ | r - ( 5
QOFZA’ aofBZf Bl =8 .

© o Write each colculation in the correct circle,

1 1 2 3 1
EnHG anza EMQ Sdfl Enfds

ptp sos [ Joo

%ufi5=|:| d)%mm:l:l
3 - 7 =
L gees ]
s 10

Sof3s= 104660 =

7° I:l 8 D

b) Write one more calculation in each circle.

@ Match the calculations 1o the answers.

2 , @ wite <. > or = to compare the colculations,

gof 8

o 2
[ ]

L]

EaY
3o |

4
45t 20 12
N | |




Fractions of a quantity j e | 9 Jof3s =|I] D) %nf36=|z|
36 36
— ammmll EEREN
3 i

o Complete the number sentences.

lip has a chocolate bar with 5 equal pieces. !
The chocolate bar weighs 60 g.

_—

€D complete the number sentences. @ o write each calculation in the correct circle.

1 1 2 3 1
zof‘é .ofzd 3clf9 lofl 60’!48

b) Write one more calculation in each circle.

g @ write <. > or = to compare the calculations.

a) %uf21®%alﬂ
b) %of«)@%ost
a %onn@%ono
@ &ofso @%onm




Plenary
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Lesson 3

WALT calculate froctions

of .an amouwrnd

Mega Challenge
Convert these from mixed numbers
to improper fractions:

2
33

1
25

A pizza has 8 slices. At a party, 2
full pizzas and 3 slices are left
over.

Write this as an improper fraction.




WAL T calculate fractions of an amount

/Convert these from mixed numbers \

to improper fractions: A pizza has 8 slices. At a party, 2
92 _I/ full pizzas and 3 slices are left
5 5 over.
Write this as an improper fraction.
1
23 13 19

__ 8 J
If you correctly answered all of the mega

challenge question, .move on to the class
questions.

If you Adid not answer al the mega challenge
correctly, stay with me to learn more.

Class questions - see next slide!
REASON AND PEER MARK FOR EVERY QUESTION!




WAL T calculate fractions of an amount

Fractions of an amount

© compiete he colaotions. g

woeawo| Do il

T
g ]

o Annie and Mo ore finding fractions of amounts.

g
o) Anie s trying to find . o 45 ¥

-
i R M" ,
as ‘ i
——— lufzv.l:l anz.l:l iursn.l:l .
3 iz 3

What patterns do you notice? g -
i e vkl i e i @ w m
what is L of 457 I:l ! e

€ vonch the colculotions to the eorrect amounts
as II|
2
2otan a
@j:l £

) Mo s trying to find % of 45

How does the bar model represent the colculotion? 9 @ write <, > or = to compare the calculations. @ Tick the odd one out.
what i 2 of a57 ] o e e 3
80 3 160 3 20 2 of 100
a) %afssO%ufss ) %maa@%.ﬂm a 8 3 o
9 Whot is the same and what is different about Mo and & Explain your choice.

Annie’s questions? = 4 2 Z s
b) ofse g of 56 d) g of 350 7 of 350
Two thirds of the people are children.

Here is a pictogram showing the results.

I PV VoYY
— — | OOOOD
B % of the children are boys. chacolate 53 9 9
How many boys are on the school trip?
e |G ROOOO0

@) How many people chose mint choc chip?

@) How many adults are on the school trip?

@ - o the childran heve an applo for funch.

How many children do not have an apple for lunch?

]

b) How many more people chose vanilla than chocolate?




WAL T calculate fractions .of an .amount

Teacher to .model
r.e,a/s,o:u.m;

Spot and explain the
mistake




WALT calculate fractions of an amount

E0f231 @ E0f231
11 21

6 is more than half of 11 10 is less than half of 21
6 1 10 = 1

. e
11 2 21 2

6
2 of 308 O — of 308
4 7



WAL T calculate froctions of an amount

7
E of 648 O — of 648
4 32

f of 90 O § of 45
9 9



WALT calculate fractions of .an amount

Ron has some money.
He spends % of the money on a new football.
He has £24 left.

What is the cost of the football?

[ N N I

| |l )

T T
New football £24
?




WAL T calculate fractions of an amount

Fractions of an amount

© compiete he colaotions. g

woeawo| Do il

T
g ]

o Annie and Mo ore finding fractions of amounts.

g
o) Anie s trying to find . o 45 ¥

-
i R M" ,
as ‘ i
——— lufzv.l:l anz.l:l iursn.l:l .
3 iz 3

What patterns do you notice? g -
i e vkl i e i @ w m
what is L of 457 I:l ! e

€ vonch the colculotions to the eorrect amounts
as II|
2
2otan a
@j:l £

) Mo s trying to find % of 45

How does the bar model represent the colculotion? 9 @ write <, > or = to compare the calculations. @ Tick the odd one out.
what i 2 of a57 ] o e e 3
80 3 160 3 20 2 of 100
a) %afssO%ufss ) %maa@%.ﬂm a 8 3 o
9 Whot is the same and what is different about Mo and & Explain your choice.

Annie’s questions? = 4 2 Z s
b) ofse g of 56 d) g of 350 7 of 350
Two thirds of the people are children.

Here is a pictogram showing the results.

I PV VoYY
— — | OOOOD
B % of the children are boys. chacolate 53 9 9
How many boys are on the school trip?
e |G ROOOO0

@) How many people chose mint choc chip?

@) How many adults are on the school trip?

@ - o the childran heve an applo for funch.

How many children do not have an apple for lunch?

]

b) How many more people chose vanilla than chocolate?




Fractions of an amount

o Annie and Mo are finding fractions of amounts.
a) Annie s trying to find £ of 45
She draws this bar model.

45

)

[ -

7

How does the bar model represent the calculation?

What is%af 457

b) Mo is trying to find % of 45

45

T T——

ERERENE.

7

How does the bar model represent the calculation?
What is 2 of 457

€} What is the same and what is different about Mo and
Annie’s questions?

3

1
s[5 ]
o Write <, > or = to compare the calculations.

5 5 2 5

a) 70!55@ g of 56 El iofﬁﬂ@iofﬂ
4 5 7 5

b) 7&55@50155 d)ﬁufi%@?ofﬁﬂ

© 165 children and odults o on a school trip
Twa thirds of the people are children.

@) How many adults are on the school trip?

b) %of the children are boys.

How many boys are on the school trip?

9 L of the children have an apple for lunch.

1
How many children do not have an apple for lunch?

Tick the odd one out.

3 3 2 3
e E e B

Explain your choice.

Voroun  Qnpwsers

320 people were asked about their favourite flavour of ice cream.

Here is a pictogram showing the results.

- |PPPPP
e |PPPPP
e <l<le
mawas | PP PP PP

@) How many people chose mint choc chip?

b) How many more people chose vanilla than chocolate?




WAL

Plenary




Lesson 4

WALT assess our fraction knowledge

We .are
quiz to see mwhere
we have improved

Fractions

o i

1. What fraction of each diagram is shaded?

Circle , of the flowers.

1% 3 48 3% 3¢
% 3 K¢ Xt 26
% 3 4F 3% 3¢

[e]

0

Find:

a. % of 35
1
b. 5 of 40

1
C 3 of 24

e -
Label the points on this number line

.......
t t

Add the missiny



A NRKAMIrorK

035—2

Find:

0 a

1. What fraction of each diagram is shaded?

1 4
T N I
_ 1/3
1/5
1/6 1

/ 12 c. %of24 s

Fractions

of36 7

o] =

Circle %of the flowers. o 33

Label the points on this number line.

L 1 L L 1
6 Ll T T T T a
16 26 35 4 g6

o

fe 2 % ¥ 2%
* ﬁ Add the missing labels to the measuring jug.
\ — 1 litre —

0 3/4 — D litl'e

1 i 2/4 p—o litre /
Colour = of the line. D /
1 .
4

==
-4
-
.
o
I

3




o 3F-4 @ 4F-2

Diego writes: Fill in the missing numbers.
A 2 122 |a 33/7| 38
St e = > / 42/7
Mark writes:
3,5_28
12 12 24
Who is correct? Explain the mistake that has been made.
Diego is correct. Mistake: Mark has added the denominators °5F‘ 1
o gy Find:
3 of 32 2 of 45 3 of 30
What are the values of a, b, c and d? ) 9 5
\=1/7 D=24/7 a b c d 12 10 -
R A
=15/7 0 1 2 3
e S5F-2
o 4F-2 Fill in the missing digits. 24
Which of these fractions are equivalent to a whole number? Explain how you know.
. o i " 412 2 [ 3 2 £
F = 5 e 8 |:] 5 40 [:l 63 30

24

s



WAL T assess our fraction knowledge

You have now markred yowr fractions quiz

You need to choose wo areas to work on
based on this quiz for the lesson.

o 3F- 4
You need to look at the
codes next to the .question
to .choose the topics



3F-I Lnterpret and wwrite proper fractions to represent | or aeszral

1. What fraction of each diagram is shaded? 5. a. Shade % of this set.
-
W I S A 8 COOCOOOOOCO0
S L ik LW
COOOTOCOCOOOO
2. Does each diagram show the given fraction? Explain your answers.
: ‘9 E A b. Shade  of this shape
Is} shaded? Is} shaded? Is 1 shaded? Is shaded? l: _,-j
L B > ‘ H I e c. Circle 2 of the flowers.
Is { shaded? Is } shaded? Is } shaded? Is shaded? s

3. What fraction of sach diagram is shaded/highlighted?
a b

~n

d. Colour % of the line.
4. Tick or cross each diagram to show whether 2 is shaded. Explain your answers.

F + + + 1

. ‘ . , 3F-2 Find wnit fractions of quantities. awsing know division facks
11 AN G ilicati p ).

1. Rohan saved £32. He spends 4lof his money on a toy. How much does he spend?
2. Find:
1
a of 35

1

b. o 0f 40
1

c g of 24

3. The school caretaker buys 50 litres of paint. She uses % of it to paint the year 3
classroom. How many litres of paint is this?

4, There are 16 apples in a fruit bowl. Some children eat % of the apples. How many
are left?



3F-3 Reason ahout the Locakion of anyg frackion within | in the
Linear numher aystem

1. Label the points on this number line. 4, Gemma and Kasper look at this number line.
Pt l
r : ¥ + + 1
) Gemma says the arrow is pointing to the number % :
2. How tall is this plant? Give your answer as a fraction of a metre.
1m Kaspersawmearrowispoiminglouwnumber%.
3F-4 Add .and subtract fractions with the same denomination,
within |
The pi1. °°'""'°l° the calculations. 3. Decide whether each calculation is correct or not. Explain your answers.
s .1 [] 6 2_[1]
te= i Correct(¥) or
EE] 88 ation
o g incorrect (x)? ptan
s,3_[1 o s _[1 7 2 _s
EAE A T TR
P 6 3 .
3. a Whichis larger, & or 2 ? Explain your ansv i+l=g i-o:D ; ;=§
14 14 D 10 D
b. Which is larger, ;. or 7 Explain your ans: 2 13
2. Diego writes: i % W T
3.5 8 L
CF - Tt 730
Mark writes: 5 2 2_1
8 38 ®
3.5_8
2wtz a 4. Sofia had a jug containing - of a itre of juice. She drank - of a litre. How much
does she have left?

Who is correct? Explain the mistake that has been made.




4F-| Reason chout the location of mized rumbers in the linear

number system
Add Iabtlzls to each mark on the number lines.
——t — 4. How much water is in the beaker? Write your answer as a mixed number.
4 5
9 N |:_ 2 litres
St LF-2 Carwert bebween mimed numbers and improper fractions

8

1. Which of these fractions are equivalent to a whole number? Explain how you know.
What are the values of a, b, ¢ and d?

48 48 48 48 48
= ] 6 T 3 o 70
0 1 2. Express the following mixed numbers as improper fractions.
Estimate the position of the following numb £ 4 a1 2
po g 4 5 6 5 3 13 8 3
2 2
. ’ 3. Express the following improper fractions as mixed numbers.
17 13 28 41
L i - il
"—*—'—0 : 3 2 6 10 7

4. Sarah wants to convert % to a mixed number. She writes:

17
4 =3

EN ]

Explain what mistake Sarah has made, and write the correct answer.

5. The school kitchen has 17 packs of butter. Each pack weighs%kg. How many

kilograms of butter do they have altogether? Express your answer as a mixed
number.

6. | have a 6%m length of string. How many %m lengths can | cut?



4F-3 Add and sublract improper and mized fractions (same
denominator).

1. lItisa 2%km cycle ride to my friend’s house, and a further %km ride to the park. How

far do | have to cycle altogether?

3. Fillin the missing n

[2z]27] |

4. The table below sh
week. For how long

5. A tailor has 3%m
is left?

| have 5m of rope. | cut off %m . How much rope is left?

5F-I Find non-unit fractions of quontities.

. Find:
3 3
3 of 32 = of 45 3 of 30
2 4 2 5
= of 630 3 of 315 3 of 3,500 3 of 2,720

. Stan bought 15 litres of paint and used % of it decorating his house. How much paint

has he used?

. My granny lives 120km from us. We are driving to see her and are % of the way there.

How far have we driven so far?

. lam % of the way through my holiday. | have 3 days of holiday left. How many days

have | already been on holiday for?

A school is trying to raise £7,500 for charity. They have raised % of the total so far.
How much have they raised?

3 % of the runners in a race have finished the race so far. If 92 people have finished,

how many runners were in the race altogether?

. There are 315 cows on a farm. % of the cows are having calves this year. How many

cows are not having calves?



5F-2 Find equivalent fractions

1. Fmdmﬁmmnhmmwmdmnshmmmmmumu

OO Oc
%o @
[e]®]

highlighted.

o0

P

@ v

2. Draw lines to match the unit fractions on the left with their equivalent fractions on

the right

1

7]

3
12

(3]
]

3. Mark each fraction on the number line.

9
FI)

4.

6.

Use the numbers 3, 24, 8 and 1 to complete this chain of equivalent fractions.

-

00O

Fill in the missing digits.

a_12 3_[1 3. 2 2 _[]
a E] 5 40 D 63 N 15

Fill in the missing number.
\ — 1 litre ; — 1 litre

. Sally and Tahira each have a 1m ribbon.

Sally cuts her ribbon into 5 equal parts and uses 1 of them to make a hair tie.
Tahira cuts her ribbon into 10 equal parts and uses 3 of them to make a bracelet.
Have Sally and Tahira used the same amount of ribbon? Explain your answer.

Hint: convert each fraction to an equivalent fraction with a denominator of 8.

o
@t

@t

1 =E 3
@]t
@t
@l
@~

e R



Lesson 5

WALT explore decimals
up to two decimal

points

Mega Challenge

Write the decimal number
that is illustrated below:

Write five and ninety-one
tenths as a decimal number.

Insert < or > to make the
statement below true.

0f the red
o o.os- 0.006




WALT explore decimals up to two decimal points

Write the decimal number
that is illustrated below: Write fiVE and ninety—one

tenths as a decimal number. 5.9|

Insert < or > to make the
statement below true.

\ 076 o.oe- 0.006 /

If you correctly answered all of the mega

challenge question, .move on to the class
questions.

If you Adid not answer al the mega challenge
correctly, stay with me to learn more.
Class questions - see next slide!
REASON AND PEER MARK FOR EVERY QUESTION!




WALT x.

) g

Lo wo

Tens

hundredths

*QO0O
e

There areDones,[:]tenths andE

The number isC]

hundredths.



WAL T explore decimals up to two decimal points

Decimals up to 2 d.p. € Vo is thinking about tenths ond hundredths

In the number 2.49
the digic 4 represents
& tenths or 0.4

o What number is represented on the place value chort?

Tenths.

Do it!
Wwhat is the volue of the digit 4 in each of these numbers? - ,
55/¢9 Reason .it!

| = 3 b) 13.74 ) 106.48

Complete the sentences,

804 f 1764 -
There are D ones, D tenths and EI hundredths.

° @) Gircle the number that has § in the tenths position

53 53 053 035
o Represent these numbers on a ploce value chart. g

Completz the sentences b} Write three numbers that have 3 in the hundredths position.

a) 056
There thnmL Dlrmhi and Dh\mdredlh!‘ ——— @ rosie is finding different ways to partition 0.73 @ Mateh the words to the numerals.
k) 0.8 TR o ‘ 5 ones, 6 tenths and 5 hundredths ‘ J 056 |
There anDuHES. Dtemhs ond|  |hundredths © competemec or 0.3 +0.43
o 148 @) 064=06+ ‘ 5 tenths and 6 hundredths [ 1 60.05 |
There is |:| one., D tenths and [l hundredths. Jentre:
b 0s3z0ss Lo 1 7 | ‘ e S e § Py ‘ ] s |
d) 207
In what other woys can 0.73 be partitioned?
There urel]onei, Dtrmhi and Dnmdwmhm ot A WS 5 i i Bt ‘ § s andis endeesiite ‘ J oo |

o Annie has three digit cards.

] L]

Are the stotements true or false? Explain your answers.
o Alex is thinking of o number. @) The largest number Annie can make is 5.02

My number has 3 digits,
is greater than 1 but less than
2 and has 3 tenths

b) The smallest number Annie can make is 0.25

6) What number could Alex be thinking of? @

Talk about it with a partner.
b) Write all the possible numbers Alex could be thinking of.

) Annie can make six different numbers

©) Write another clue that would mean Alex’s number is 1.34




WALT r ' Lo two

__ (=

f% . 7 ones and 2 hundredths is 7.2 as a decimal.

hundredths

Where has tiny .gone wrong?



WAL T explore decimals up to two decimal points

Decimals up to 2 d.p. € Vo is thinking about tenths ond hundredths

In the number 2.49
the digic 4 represents
& tenths or 0.4

o What number is represented on the place value chort?

Tenths.

Do it!
Wwhat is the volue of the digit 4 in each of these numbers? - ,
55/¢9 Reason .it!

| = 3 b) 13.74 ) 106.48

Complete the sentences,

804 f 1764 -
There are D ones, D tenths and EI hundredths.

° @) Gircle the number that has § in the tenths position

53 53 053 035
o Represent these numbers on a ploce value chart. g

Completz the sentences b} Write three numbers that have 3 in the hundredths position.

a) 056
There thnmL Dlrmhi and Dh\mdredlh!‘ ——— @ rosie is finding different ways to partition 0.73 @ Mateh the words to the numerals.
k) 0.8 TR o ‘ 5 ones, 6 tenths and 5 hundredths ‘ J 056 |
There anDuHES. Dtemhs ond|  |hundredths © competemec or 0.3 +0.43
o 148 @) 064=06+ ‘ 5 tenths and 6 hundredths [ 1 60.05 |
There is |:| one., D tenths and [l hundredths. Jentre:
b 0s3z0ss Lo 1 7 | ‘ e S e § Py ‘ ] s |
d) 207
In what other woys can 0.73 be partitioned?
There urel]onei, Dtrmhi and Dnmdwmhm ot A WS 5 i i Bt ‘ § s andis endeesiite ‘ J oo |

o Annie has three digit cards.

] L]

Are the stotements true or false? Explain your answers.
o Alex is thinking of o number. @) The largest number Annie can make is 5.02

My number has 3 digits,
is greater than 1 but less than
2 and has 3 tenths

b) The smallest number Annie can make is 0.25

6) What number could Alex be thinking of? @

Talk about it with a partner.
b) Write all the possible numbers Alex could be thinking of.

) Annie can make six different numbers

©) Write another clue that would mean Alex’s number is 1.34




Answers

Decimals up to 2 d.p. o Mo is thinking obout tenths and hundredths.

In the number 2.49
the digit 4 represents
4 tenths or 0.4

o What number is represented on the place value chart?
Tenths | Hundredths
- | S A S

0) 148 _Liowwo d) 42.03 b benn

[ 2 3 b) 1374 _Y hundrediin ) 106.48 o ety

Complete the sentences.

0804 Lhundreithe g oqpg _ Lbwty

There are

o Rosie is finding different ways to partition 0.73 o Match the words to the numerals.
The number is

073 =07 +003 I 5 ones, 6 tenths ond 5 hundredths | 0.56 |
or03+043 @
Represent these numbers on a place value chort.
Q SR g | 5 tenths and 6 hundredths | 60.05 |
Complete the sentences.
o 058
@ 0 7 3 | 5 ones, 5 tenths and 6 hundredths | 5.56 |
There are ones,
b) 0.08 In what other ways can 0.73 be partitioned?
B . 6 tens and 5 hundredths 5.65
Thase tre @om @mm = hundr 3 List as many ways as you can below.
01l +0-63 0-S+0-23

Q 148 © Annic has three digit cords. @
06+0-13

There are tenths and nunnreaum 024053

HEE
d) 207

There are

Are the statements true or false? Explain your answers.
@ Aex s thinking of @ number. a) The largest number Annie can make is 502

False 5-20 5.02

My number has 3 digits,
is greater than 1 but less than
2 and has 3 tenths.

b) The smallest number Annie can make is 0.25

@) What number could Alex be thinking of? @ Trug
Talk about it with a partner.

b) Write all the possible numbers Alex could be thinking of.
1:30, 1121, 132, 33 |34, 135, 136, )37
1136, 139

© Annie can make six different numbers.

0-325 052 205 2-50 502 S-ao

€) Write another clue that would mean Alex’'s number is 1.34

It hon | hwndiediin




0.64

|

My number is zero point
sixty four

L&




